a4 & g ¢ SEUNIDN; o A Xt a A = 2 ¢ 2 T
Al A} = % ol E] % o]
o Al A

NEHZ2 222 (H1400xW2000,

Agl)
=IINE 20244 E
oI g Na=E[cs
TEL: 1577-8549
FAX: (02)3436-6450




£ It
HEAcZH2t-LE (H1400xW2000, AE
T E b g
3= BE 2z | o9
e Ot 2 o 2 o 2 o e Ot 2 o
1. HEASZH2-B LS (H1400XW2000, AR )& XA "H2H'Y (DY)
2012 A3 M16X190 4 2,500 10,000 2,500 10,000
A F(AATEE) | O101.6X2tX1320 1| = | 162000 | 162,000 162,000 | 162,000 |8S0e=a
X F ©101.68 1M 8,100 8,100 8,100 8,100 |ss00E3
e ©76.3x2050x2t 1| = 82,300 | 82,300 82,300 | 82,300 |ssOlecI+EHES
w2 120X2tX4330 15 = 80,100 | 120,150 80,100 | 120,150 |SOleca+EHES
HEUUHABE  MBxT10(AH) 1M 700 700 700 700
W2 DE B/N 3 b 1,500 4,500 1,500 4,500
W2 e B/N 5/8x38 3 b 800 2,400 800 2,400
BEALK] 50X320 1= 1,800 1,800 1,800 1,800
A2 (R ) 391,950 - - 391,950

PR 0.014 | o 3.060 212,500 3,080 | ) T s o

: = 0.108 | ol 23,686 219,321 23,686 | oo mom e ) T e o

" 2 0.216 | ¢ 36,089 167.081 36,080 | 2ot Sl D P e o
20i=g ®1 inch 0.040 | hr 17 437 17 B P46, JIEHH,
3stR0HIE ®1 inch 0.010 | I 41,600 416 41,600 a1p [ A P746
EESD] 0.400 | hr 9,122 3,648 13,921 1,294 | 47,162 18,863 | 2o oo oo T e B
goes 0.400 | hr 6.846 2,738 19,496 2,467 | 61,756 | 24,701 |08 ZERE R e B
gl 2l 3% 1 A 1,885 1,885 1,885 1,885 |20244 A4E STA P.746

A0 (&XIHI) 8,687 96,252 3,778 108,717
p 400,637 96,252 3,778 500,667
*"'m"g Bt 500,667 |/ 2m = 250,334




& o3 ot
PN 3 &g A
z2= 72 z | o
=) = o =~ = o = A =l = A
2. I HE 22 2L S S (H1400 AES)EXBAM "HA'Y (REE)
HOIZ HH M16X190 21 M 2,500 5,000 2,500 5,000
X F=(YHEZE ®101.6X2tX1320 0.5| = 162,000 81,000 162,000 81,000 |28oteic3
=Y ®101.68 0.5 M 8,100 4,050 8,100 4,050 |880td&3
gl & & steggs/wal 41 Of 18,000 72,000 18,000 72,000 |2S0HE3+2MTE
HEHLABESE M8x110(AEl 0.5 M 700 350 700 350
w2 B/N 5/8x130 1.5 M 1,500 2,250 1,500 2,250
BEALK 50X320 0.5| & 1,800 900 1,800 900
AARIZHI) 165,550 - - 165,550
A Xl =3 0.01 ol 212,500 1,530 212,500 1,630 |EE72 50% =&
A Xl Egos 0.05 | ¢l 219,321 11,843 219,321 11,843 |EEF22 50% ¥&
2oL 0.1 ol 167,081 18,044 167,081 18,044 |EE=72t2 50% ¥&
IHEE ®1 inch 0.02 | hr 8 437 8 |EET2LY50% HE
3HIDUHIE ®1 inch 0.01 I 65,000 325 65,000 325 |EET2A50% HE
Erap] 2.5ton 0.20 | hr 9,122 1,824 34,803 6,960 647 47,162 9,431 |EET2 50% HE
HOE™ 2.5ton 0.20 | hr 6,846 1,369 48,741 9,748 1,233 61,756 12,350 |HEEF22 50% ¥&
M=l el Z ol 3% 1 4l 942 942 942 942 (2024 ALEEZ M (AL TAL) P.746
AAH(EXIHI) 4,460 48,125 1,888 54,473
Al 170,010 48,125 1,888 220,023




2l T 2 4l a3l & Al
2z 72 +2 | @9 Sl
e Ot 2 o =l 2 o e Ot 2 o e Ot 2 o

*HNSE : IHSE-'AIVY
JFo=E 6" 1 hr 438 437 438 437 g(\)iﬁaif:;fgggggﬁ%ié?ﬁ&?émmm

Al 437 437
* RI2SH : YHEI|(25kw)-'Al2H'E
i 25kw 1) hr 3,237 3,237 3,237 3,287 |3 bl 5 & 5 8370500 2a6240.0000001
357 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 H2HoH P.1451
gz FAHZO 24% 0.24| 4l 7,357 1,765 7,357 1,765
B HSE AL 11 ¢ 34,803 34,803 34,803 34,803 |H4sE

Al 9,122 34,803 3,237 47,162
* N3SH : EZE=(2.5ton)-'Al2t'Y
a7 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 [2024.09 H2HIt2 P.1451
gz FAHZO 38% 0.38| &l 4,961 1,885 4,961 1,885
S X2 AL 1] ¢ 48,741 48,741 48,741 48,741 |H58H

A 6,846 48,741 6,169 61,756
* M4SHE : ABDIHSEA-AlIRNE
LE|H2E A 0.208 | ¢l 167,059 34,803 167,059 34,803 |1L01F AlI2bx A O I 4x 5 K| H 2=(1/8)x(16/12)x(25/2)
* HI5SHE : SISXUSEA-'AIZHE
SSI2E A 0.208 | ¢l 233,960 48,741 233,960 48,741 |1LIIEAZXA O 2x 5 X H 4=(1/8)x(16/12)x(25/2
* DL
sEgog 2024.9.101& 1]« - 219,321 219,321 219,321 219,321
2308 2024.9.101& 1] & - 167,081 167,081 167,081 167,081
223 2024.9.101& 1]« - 247,269 247,269 247,269 247,269
E=gel g 2024.9.101& 1] & - 212,500 212,500 212,500 212,500
LB H2E AL 2024.9.101& 1]« - 167,059 167,059 167,059 167,059
SIS X2 A 2024.9.101& 1] & - 233,960 233,960 233,960 233,960




I g o AAKE | 2 A X & CIEE - 2
A A CIEE - EIEE- T
& Al M

ANEAHE2 22 LE (H1400xW2000C, =Xl)

202448 2 o«
AT AAE
1577-8549

(02)3436-6450

1%




NEAE 2222 S (H1400xW2000C, A1)

T 2 bl = 2 i 2l g i
o 72 2| o9 Sl
e O 2o e O 2o e O 2 o e O 2 o
1. RHEHEZE2-2 2 S (H1400xW2000C, EX)&EXIBA 'F2'Y (RS E)
AHoIZ%H M16X190 4 2,500 10,000 2,500 10,000
N F(UIHBEE) | 0101.6X2tX1320 1| = 75,000 | 75,000 75,000 | 75,000 |8sotecarEAEs
ESD ©101.6% 1 of 9,600 9,600 9,600 9,600 |s80ieES+ENEE
oo ©76.3x2050x2t 1| = 45,000 | 45,000 45,000 | 45,000 |SSOlecI+EHES
wel 120X2tX4330 15 & 64,000 | 96,000 64,000 | 96,000 |SSOleiEIrENES
BCYAAHEE | MBxT10(AH) 1 oH 1,500 1,500 1,500 1,500
w2y B/N 5/8x130 3 2,300 6.900 2,300 6.900
W2 e B/N 5/8x38 3 900 2,700 900 2,700
BEALK] 50X320 1| = 3,300 3,300 3,300 3,300
A2 (R BH) 250,000 - - 250,000

S| motz 0.014 | o 212,500 3,060 212,500 3,080 | e e T B s o

: SERE 0.108 | @l 219,321 23,686 219,321 23,686 | oo mom e ) T e o

: CERIE] 0.216 | @ 167,081 36,089 167,081 36.089 | e = oo
20i=g ®1 inch 0.040 | hr 437 17 437 17 [ S SR E A ST AN PTas, =N,
3 I0NHIE 1 inch 0.010 | M 41,600 416 41,600 a6 (Wb DEREROEAETA P10
EESD] 25kw 0.400 | hr 9,122 3,648 34,803 13,921 3,237 1,294 | 47,162 18,863 | o e B R e R e, e
gmes 2.5ton 0.400 | hr 6,846 2,738 48,741 19,496 6.169 2,467 61,756 24,701 | e T =S
ST =8 AHZF2| 3% oA 1,885 1,885 1,885 1,885 |20245 ALHESH(ALATA P.746

A0 (&XIHI) 8,687 96,252 3,778 108,717
H 258,687 96,252 3,778 358,717
*'m'@ Bt 358,717 |/ 2m = 179,359




& o3 ot
PN 3 &g A
z2= 72 z | o
=) = o =~ = o = A =l = A
2. B HE 22l s =2 (H1400 SNIS)EXISA "HA"Y (DBE)
HOIZ HH M16X190 21 M 2,500 5,000 2,500 5,000
®101.6X2tX1320 0.5| = 75,000 37,500 75,000 37,500 |2S0teE3+ENTE
=Y ®101.68 0.5 M 9,600 4,800 9,600 4,800 |BS0IAES+EMEH
gl & & e 41 Of 18,000 72,000 18,000 72,000 |2S0HE3+2MTE
HEHLABESE M8x110(A ) 0.5| & 1,500 750 1,500 750
w2 B/N 5/8x130 1.5 M 2,300 3,450 2,300 3,450
BEALK 50X320 0.5| & 3,300 1,650 3,300 1,650
AARIZHI) 125,150 - - 125,150
A Xl =3 0.01 ol 212,500 1,530 212,500 1,630 |EE72 50% =&
A Xl Egos 0.05 | ¢l 219,321 11,843 219,321 11,843 |EEF22 50% ¥&
2oL 0.1 ol 167,081 18,044 167,081 18,044 |EE=72t2 50% ¥&
IHEE ®1 inch 0.02 | hr 8 437 8 |EET250% HE
3HIDUHIE ®1 inch 0.01 I 65,000 325 65,000 325 |EET2A50% HE
Erap] 2.5ton 0.20 | hr 9,122 1,824 34,803 6,960 647 47,162 9,431 |EET2 50% HE
HOE™ 2.5ton 0.20 | hr 6,846 1,369 48,741 9,748 1,233 61,756 12,350 |HEEF22 50% ¥&
M=l el Z ol 3% 1 4l 942 942 942 942 (2024 ALEEZ M (AL TAL) P.746
AAH(EXIHI) 4,460 48,125 1,888 54,473
Al 129,610 48,125 1,888 179,623




2l T 2 4l a3l & Al
2z 72 +2 | @9 Sl
e Ot 2 o =l 2 o e Ot 2 o e Ot 2 o

*HNSE : IHSE-'AIVY
JFo=E 6" 1 hr 438 437 438 437 g(\)iﬁaif:;fgggggﬁ%ié?ﬁ&?émmm

Al 437 437
* RI2SH : YHEI|(25kw)-'Al2H'E
i 25kw 1) hr 3,237 3,237 3,237 3,287 |3 bl 5 & 5 8370500 2a6240.0000001
357 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 H2HoH P.1451
gz FAHZO 24% 0.24| 4l 7,357 1,765 7,357 1,765
B HSE AL 11 ¢ 34,803 34,803 34,803 34,803 |H4sE

Al 9,122 34,803 3,237 47,162
* N3SH : EZE=(2.5ton)-'Al2t'Y
a7 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 [2024.09 H2HIt2 P.1451
gz FAHZO 38% 0.38| &l 4,961 1,885 4,961 1,885
S X2 AL 1] ¢ 48,741 48,741 48,741 48,741 |H58H

A 6,846 48,741 6,169 61,756
* M4SHE : ABDIHSEA-AlIRNE
LE|H2E A 0.208 | ¢l 167,059 34,803 167,059 34,803 |1L01F AlI2bx A O I 4x 5 K| H 2=(1/8)x(16/12)x(25/2)
* HI5SHE : SISXUSEA-'AIZHE
SSI2E A 0.208 | ¢l 233,960 48,741 233,960 48,741 |1LIIEAZXA O 2x 5 X H 4=(1/8)x(16/12)x(25/2
* DL
sEgog 2024.9.101& 1]« - 219,321 219,321 219,321 219,321
2308 2024.9.101& 1] & - 167,081 167,081 167,081 167,081
223 2024.9.101& 1]« - 247,269 247,269 247,269 247,269
E=gel g 2024.9.101& 1] & - 212,500 212,500 212,500 212,500
LB H2E AL 2024.9.101& 1]« - 167,059 167,059 167,059 167,059
SIS X2 A 2024.9.101& 1] & - 233,960 233,960 233,960 233,960




